8102 ‘1€ yaren perepdn

"pouad uonisuel} 8U} Jo} 81/ L0 Ul PEPNIoUI S! £1.02
yose o} Aienuer (8102 L€ UAIBW O} £10Z 10 [udy) Jea A [20s14 Uo paseq mou s wodal sy} 2102 10 |udy 8AoeyT “Jes A Jepusies uo paseq sem Bujuodas snoinaid ajou ases|d,

LT LT 0 0 S € z LT +«8T/LT0C
L ¥ 0 0 9 S 0 L 9102
4 t 0 0 4 z 0 z 5102
€ z 0 0 1 z 1 3 ¥102
9 V/N 0 0 4 0 4 v €102
9 v/N 0 0 € 1 z 9 210t
6 v/N 0 0 1 L T 6 1102
L V/N 0 0 1 9 0 L 010¢
ot v/N 0 0 v € 13 o) 600¢
S v/N 0 0 0 S 0 S 8002
L v/N 0 0 0 9 T L £00Z
9 V/N 0 0 0 S T 9 9002
8 v/N 0 0 ¥ ¥ 0 8 5002
S v/N 0 0 [4 € 0 S ¥00¢
ot V/N 0 0 1 8 T o1 €002
8 v/N 0 T 0 L 0 8 2002
8 v/N 0 1 0 ¥ € 8 1002
LT V/N 0 [4 ¥ 1T 0 LT 000¢
9z v/N T 0 6 91 0 9z 6661
4 v/N 0 € L 4" 4 %4 8661
9z Vv/N 0 1 ot €1 F4 9z L66T
¥z v/N 0 0 6 L 8 vz 9661
pasop jlew3/auoyd leuy suozeng uonedisanu} uonedisanug pausdo
aj13 oN Aq pajpuen 310j2g Pan|osay paul4 pue padiey) usTIIM panss( 10 M3INDY S,JJ143YS 10 M3INDY sapg II-- 7N
muc_m_n:._ou pue —uum._mcu € 13))y PIAjosaYy 0} J0lid paAjosay

110day jenuuy sieap 1sed - Juiejdwo) Juawadiojul JIAD




